AV\SUJL/ l(<7

Chemical Reactions and Reaction Stoichiometry

Identify the reactants and products;
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Fe+Cl;, ———. FeClj

FCBI‘; + HzSO4 ——— FeQ(SO4)3 + HBr
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What is the Law of Conservation of Mass?
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What do subscripts and coefficients tell us? ;
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Identify the types of reactions:
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N,(g) + 3Hy(g) — — 2NH; (g) Cowmoinatte N / Synhaes s
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2KCIOy(s) — — 2KCl(s) +30,(g)  Deco mposition [ A’V\a\\’s'\s
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Sonuakines (0O
Calculate the molecular weight of the following compounds:
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CeH,,04 Cay(PO,),
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C4b Mol = T2 -066g

He LA A ‘oOO%S = 12.04064 P%-g?:‘fgo'qqué - a(.ql{%‘g
0+ & X IS.QC\QS w‘_ 03 X\S»‘W'{j =, 131,442
Write the formula for percent comgosmo 3\0. \f[l\:s o~
@/f—*- X 100 (3 o ak«s)(abwc, wel M)
st % Elemeat = = X100

%(W‘o' W&tljl'\" O:' 4H4, Comoouv\&
Calculate percent composition of carbon, hydrogen, and oxygen:
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What 1s a mole?
(ouwH:S Fecmi 3o count atomsg
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How many molcs of NaCl arc in 735 grams of NaCI? ¢ Na Cl 2> wmoles RNall
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How many grams is 0.168mol of KMnO,? me) k.4, Oy > ¢ /A/'l-,o,_/
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How many grams of CO, will form from 2.7 moles of propane?  imoles propauwe > 5 oy
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